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Jo00o00ododod.eg[1]. Why O O O For one thing(d
[1 Foranother I 00 [2]. The answer to this problem involves many
factors. For one thingld O For anotherd [ Stillanother O O [3]. A
number of factors LI both physical and psychological affect [
[I /both individual and social contribute to [0 1 3-1-2 1 0 O [
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[1 00 'e.g: [1]. Another important factoris LI I [2]. U O isalso
responsible for the change/problem. [3]. Certainly TJ the I [ is not
the sole reason for 0 0 3-1-30 0 0 O --------- Dododood
DJO0o00o00odooood .eg:[1]. Itwill produce a
profound/far-reaching effect/impact onJ [ [2]. In involves some
seriousconsequencefor 0 DO OO O0O3-2-1. 0000 -0
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OO0O000000 'eg: [1]. The advantages gained from A are
much greater than the advantageswe gain from B. [2]. Indeedd A
carries much weight when compared with B. [3]. There is no doubt
that it has its negative effects as well aspositive effects.3-2-2 . [J [0 [
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[1!e.g: [1]. A and B have several things in common. They are similar
in thatld O [2]. A bears some striking resemblances to B. 100Test [
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